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T T EE G X
@® @ @ @ ® © @ ®
ik | aokE | WEBA pana |ae ios  a | pos |, K aar | aew
) ) [El A
DEo 00 | DEO 190 | Hive o 50 | HIVP 650 | HIVP 650 | HIVP 50 | HIVP 950 | 650~ ¢20 "
i a9 | e agm | P 3% 3% 1% R
EZERRED BT T t=5cm m| 5.4 664.0 11.0 375.5 45.3 349.0 [1450.2 | 1450
EE Ui e W N A N R R N E R R I R
0.20BH t=10cmLA T m| 1.8 258.1 4.5 214.8 214.8 13.5 13.5 104.7 | 825.7 826
AR I T 0.20BH m| 2.6 323.4 5.2 32.2 29.2 2.0 1.9 114.7 | 511.2 510
HREL(HET) 0.20BH m| 1.9 3.6 5.5 6
WRTGEET) 0.20BH m| 2.6 235.6 99.0 337.2 340
mET AR ||
SR £
0.20BH m 29.2 1.9 15.7 46.8 47
FEtasy T A+ nt| 2.6 61.6 5.2 0.2) | 29.2 0.1 1.9 4.7 104.9 | 105
ASHZH53 T AS m| 0.1 12.9 0.2 10.7 10.7 0.7 0.7 5.2 41.2 41
BAEAE
INEL: t=19cm m| 1.8 258.1 4.5 264.4 264
ENGCY a1 T N I N N R R I IR S U P
BT t=15cm m| 1.8 258.1 4.5 214.8 13.5 492.7 493
BABRET A2 | e
#=JE T (HhE) t=5cm PK3 m| 1.8 258.1 4.5 214.8 214.8 13.5 13.5 104.7 | 825.7 826




IERAERTER

. i & -
il Ml no neE B £ &
@O F#kosrr HIE 39% DIP¢ 100 1.20 1T X 1.5m 150
@ | EKE HE 39%  DIP ¢ 100 1.20 397.002  397.00
@  REES K HBE 395 EEEDIPe 100 1.20 AT X 1.56m 4.50
@ EREARRE HOE 39 miveesoxsz  0.14 358.00
® REEfE HE 398 nveesoxszk  0.14 358.00
® EREARE HOE 39 miveesoxiz  0.14 45.00
@ EREwE #E 39 mveesoxix 0.14 45.00
ek B 398 ¢5Ig}}//l?z> 20 h2f& P 174.50




T TEEE
HE 397
AWK VT

DIP ¢ 100mm DP=1.20m

R R DIP ¢ 100 MRS 142 2 m
SR 0.05 m BedsE 108 m B+
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 1.20 m AS 0.05 m
PRHI R 1.50 1.50
SRR T
t=5cm 1.50 2 + .20 X 2 = 5.4
EfiE R EUE T
As t=10cmPL 1.50 1.20 = 1.8
FE AR T
1.50 1.20 X 1.42 = 2.6
HWERT (&EB1)
1.20 1.08 - 0.118 2
X
7 = 4 ) X 1.50 = 1.9
A TG4 1)
2.6 0.0 )=+ 0.9 = 2.6
ASTZ4L4y T
1.8 0.05 = 0.09
T E A T
FAYIARA t=19cm 1.50 1.20 = 1.8
RC-40
LT
HARFERA t=15cm 1.50 1.20 = 1.8
RM-40
F=ET
HABRET 270 t=5cm 1.50 1.20 = 1.8
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Bic K &

DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 MRS 1.27  m
SR 0.05 m B E 093 m %4+
BIFO 0.100 m B 0.19 m  FlEEE
AR 0.118 m Bx 015 m BB
FHE S RS 065 m AS 0.05 m
PRHI R 397.00 397.00
SRR T
t=5cm 267.00 2 + 130.00 X 1 = 664.0
EfiE R EUE T
As t=10cmPL 397.00 0.65 = 258.1
FE AR T
0.65 1.27 - 0.118 2
7 = 4 ) X 397.00 = 323.4
WERT (B4E+)
0.65 0.93 - 0.118 2
X
7 = 4 ) X 397.00 = 235.6
Ay T4 +) Skt
323.4 235.6  + 0.9 = 61.6
ASTZ4L4y T
258.1 0.05 = 12.9
T E A T
FAYIARA t=19cm 397.00 0.65 = 258.1
RC-40
LT
FARFRE t=15cm 397.00 0.65 = 258.1
RM-40
F=ET
HABRET 270 t=5cm 397.00 0.65 = 258.1
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DIP ¢ 100mm DP=1.2m

R R DIP ¢ 100 M) 1.150 m
SRR 005 m B E  0.810 m PRk BE 1+
BIFO 0.100 m B 0.19 m  FlEEE
AR 0.118 m Bx 015 m BB
FHE S RS 1.00 m AS 0.05 m
PRHI R 4.50 4.50
SRR T
t=5cm 1.00 2 + 450 X 2 = 11.0
EfiE R EUE T
As t=10cmPL 4.50 1.00 = 4.5
FE AR T
4.50 .00 X 1.150 = 5.2
WERT (hpktkB 1)
4.50 .00 X 0.810 = 3.6
A T4 +) Skt
5.20 0.00 =+ 0.9 = 5.2
sehpiki B+ o720
ASTZ4L4y T
4.50 0.05 = 0.2
T E AT
FAYIARA t=19cm 4.50 1.00 = 4.5
RC-40
LT
HARFERA t=15cm 4.50 1.00 = 4.5
RM-40
F=ET
HABRET 27 t=5cm 4.50 1.00 = 4.5

PK—3
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REXEATRR 35:

HIVP ¢ 50mm DP=0.14m

TR B HIVP ¢ 50 FRdEE]  0.150 m
SRR 005 m BEMEEE  0.150 m  RAEREA
BIFO 0.050 m AR m  FERE
AR 0.060 m AR m B
FHE S RHIE 060 m AS 0.05 m
PRHI R 358.00 358.00 m
SRR T
t=5cm 358.00 X 1 + 17.50 = 375.5 m
EfiE R EUE T
As t=10cmLL T 358.00 X 0.60 = 214.8 m™
R ) T
358.00 X 0.60 X 0.150 = 32.2 m’
HET (RAENA)
DS Yacta 0.60 X 0.150 - 0.060 2
r =+ 4 X 3 ) X 358.00 = 29.2 m®
S TRAT) R+
32.20 - 2920 = 0.9 = -0.2 m*
ASHFHLAS T
21480 X  0.05 = 10.7 m®
FET
HABRET 27 t=5cm 358.00 X 0.60 = 214.8 m™
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RRERE 35

HIVP ¢ 50mm DP=0.14m

TR B HIVP ¢ 50 FRdEE]  0.150 m
SR 0.05 m FEAR R m  BAERA
BIFO 0.050 m AR m  FERE
AR 0.060 m Bx 015 m BB
FHE S RHIE 060 m AS 0.05 m
PRHI R 358.00 358.00 m
EfiE R EUE T
As t=10cmLL T 358.00 X 0.60 = 214.8 m™
R ) T
0.60 X 0.150 - 0.060 2
r =+ 4 X 3 ) X 358.00 = 29.2 m®
S TRAT) R+
29.20 - 0.00 = 0.9 = 29.2 m®
SKEAR RGO
ASHFAHLAS T
21480 X  0.05 = 10.7 m®
LT
FARFIRA t=15cm 358.00 X 0.60 = 214.8 m™
RM-40
FET
HABRET 27 t=5cm 358.00 X 0.60 = 214.8 m™
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HIVP ¢ 50mm DP=0.14m

TR B HIVP ¢ 50 FRdEE]  0.150 m
SRR 005 m BEMEEE  0.150 m  RAEREA
BIFO 0.050 m AR m  FERE
AR 0.060 m AR m B
FHE S RHIE 030 m AS 0.05 m
PRHI R 45.00 45.00 m
SRR T
t=5cm 45.00 1 + 0.30 45.3 m
EfiE R EUE T
As t=10cmLL T 45.00 0.30 13.5 m
R ) T
45.00 0.30 X 0.150 2.0 m®
HET (RAENA)
DS Yacta 0.30 0.150 - 0.060 2
7 4 X 1 ) X 45.00 1.9 m®
S TRAT) R+
2.00 .90 =+ 0.9 -0.1 m*
ASHFHLAS T
13.50 0.05 0.7 m’
FET
HABRET 27 t=5cm 45.00 0.30 13.5 m

PK—3
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RREmE 15

HIVP ¢ 50mm DP=0.14m

EHEER HIVP ¢ 50 FEMEAEH]  0.150 m
HEWE 0.05 m FEAR R m  BAERA
IO 0.050 m s m  FERE
AR 0.060 m Bx 015 m BB
FHE S RHIE 030 m AS 0.05 m
PRHI R 45.00 45.00
EfiE R EUE T
As t=10cmPL 45.00 0.30 = 13.5
FEAR T T
0.30 0.150 - 0.060 2
7 4 X 1 ) X 45.00 = 1.9
A TG4 1) Skt
1.90 0.00 =+ 0.9 = 1.9
KEARGEME A ORD
ASTZ4L4y T
13.50 0.05 = 0.7
LT
HAERREE t=15cm 45.00 0.30 = 13.5
RM-40
F=ET
HABRET 27 t=5cm 45.00 0.30 = 13.5

PK—3
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HE 397
TG e VNG 75 9
HIVP ¢ 50~20mm 524 Pt
R HIVP ¢ 50~ ¢ 20 FbdElE] 1,100 m
SRR 005 m BEE 0950 m %+
FHE BIFO 0.050 m AR m  FERE
AR 0.060 m AR m B
PEH IS 0.60 m AS 0.05 m
PRHIZE R 174.50 174.50 m
EEE IR T
t=5cm 17450 X 2 = 349.0 m
SR T
As t=10cmLL T 174.50 X 0.60 = 104.7 ot
P Ak A T
0.60 X 1.100 - 0.060 2
X r ~ 4 ) X 17450 = 114.7 m®
WERET (FBEMA)
¥+ 0.60 X 0.15 X 174.50 = 15.7 m®
HET B4+
0.60 X 0.950 - 0.060 2
X r ~ 4 ) X 17450 = 99.0 m’
S TRAT) R+
114.70 - 99.00 0.9 = 4.7 m®
ASHFAHLAS T
104.70 X 0.05 = 5.2 m®
FET
AR 2 t=5cm 174.50 X 0.60 = 104.7 ot

PK—3







B K EMZE
GX¥ ¢ 100mm

& OB L B * #oOR | B AL
3 Eil B T ¢ 100 390.8 m
o8k B @ W L ¢ 100 9 H
B & T | EE+FE ¢100 94 H
B & T BIE ¢ 100 27 |
% & T PU>7 ¢ 100 1 |
% & T GU>7 ¢ 100 13 |
V) B ' S S ¢ 100 14 5
At ERBEBEL AT, 1% 15 &
ok B % OB T B 3 & HT
Pk OH E T O 1 i
7 7 v v i F L o175 8 A
VY vay )=y ) AR B T M35 4 &
AT = vk FE T Rk ¢ 100 4 A
I A A i DIP ¢ 100 1 faiFT
W or 7T — 7 T ¢ 100 504.4 m
# B r v — b L 388.1 m
BE &% & Mk F W4k L T GU>7 ¢ 100 1 |
BE &% & Mk F 4L LT ¥k DIP ¢ 100 2 H
BE 3% B2 it & @ W L VP ¢ 100 4 =
BE &% # it & 9 W T DIP ¢ 100 5 A
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Yiris 'y
B XK B o B =
N TTOUA | o TTOUE | o
il i e W R o —mT FHTEE ol Lo | e | TR ke | e || TR
75200 |HER | i L S 5
B N Bk 3 14 | 2212 45° 22 1/2° 45° H300 H450 “’g?; “’;?gox “’g?; O | 7ska00 | 75v200 it 754200 | 10 §+zoo L] #t L] %f
GX ¢ 100 DP=1.2m 91 6 97 1 2 2 1 2 4 1 1 3 3 1 1 3
At 91 6 97 1 2 2 1 0 0 0 0 2 0 4 1 3 1 3
o s ot . N - NN = ] ENCEN
FE R HARRE | HEARFpEE - 4L Y7 — A POTEONE i B | B RRE =1 ke Lo P n
TR WAIE | g | mmw | iwe | mEs oo | LIS ser | s | aus | =rmvo Hirs T Q|
R 500X 690 : 500 X 690 : $100X 675 AL RS h R 200 DIPJf] HAEFR (GXIE) DIP
GX ¢ 100 DP=1.2m 3 3 1 1 3 1 12 2 15 15 27 18 1 13 10m 1 4 3 1 26% 388.1
i 3 1 3 1 0 0 12 2 15 27 18 1 13 10m 1 4 3 1
fLoise | acsgei | KR | PR L . ﬁvfﬁw AN=Iv | B | BESBE BT | BERURET | Rk
" ” . . BB Rl wE am | v | v | RET RETF T T S [V [V Rl T
o P o FRERE | B REE PUL GUv s xR xR IR e VYA py—h FHR EHR
R O AT wmT | war | mar | war | mar t%i Tléf i F—7L | v-bL
etk A, 15 et 204 v " i EE273 VP DIP ik GU>7 DIP
9 94 27 1 13 504.4
GX ¢ 100 DP=1.2m 390.762 14 15 3 1 8 8 4 4 4 5 388.1 2 1 1
B 390.762 9 94 27 1 13 14 8 0 4 4 5 504.4 2 1 1




RS
GXJ% ¢ 100mm i Wl e £ 397.002
DP=1.2m BRI R 390.762
B B i s MEHE R oo& b5 R
2 “ GX*%& 4.000 91 364.000
H ) (1 GX& 1.710 1 1.710
H ) (1 GX& 2.440 1 2.440
H ) (= GX& 1.500 1 1.500
Z ) H i GX& 3.000 1 3.000
Z ) 1 i GX& 3.120 1 3.120
Z ) 1 i GX& 2.170 1 2.170
Z ) H i GX& 0.860 1 0.860
Z ) 1 i GX& 0.950 1 0.950
Z ) 1 i GX& 2.500 1 2.500
Z 4 (1 GX& 2.170 1 2.170
i1 (1 111/4° 0.360 1 0.360
i1 (1 22 1/2° 0.380 2 0.760
i1 (1 45° 0.420 2 0.840
0] = i (1 22 1/2° 0.120 1 0.120
~ % T F | 100X ¢ 100 0.590 2 1.180
F o T % & | ¢100X¢75 0.440 4 1.760
AR AV I ¢ 75X 400L 4
i fE o | ODRH 1
A7vr A wg R | 000 3
# T X W Ok & B 1
AT L AT UV KR B 3
H K 2 f# | ¢500X690H 3 (FHET)
HE K Sin # | ¢500x690H 1 (FHET)




PR E

GXJ% ¢ 100mm i Wl e £ 397.002
DP=1.2m BRI R 390.762
B B i s MEHE R oo& b5 R

ik i ¢ 100 0.200 3 0.600

0] = {51 (=3 ¢ 100 0.020 1 0.020

Y 7 by o— v AR 8 | XL ¢ 100 0.490 12 5.880

V7 Ry — LAl Y M ¢ 100 0.180 2 0.360
o o & JE £ |H=510~690mm || A 15
% = il il RIBE 27

% = il il FA4F 0.029 18 0.522
% = il T GU>” 13

% = il i PUL Y 0.180 1 0.180
A e CEE M) GXJ% ¢ 100 3
FCD & e 5] K% ¢ 100 1
H I ¥ ¥ v 7 ¢ 100 4
RoOW ok N o T DIP 1




g &

GXJZ ¢ 100mm

L=4.0m/A

L
H)A CAVE CHVE | LEEG) R e
1 3.000 FH 1.000 1
2 3.120 FH 0.880 1
3 2.170 0.860 FH 0.970 2
4 1.710 2.170 & 0.120 2
5 2.440 0.950 & 0.610 2
6 1.500 2.500 0.000 1

5]




g —MRHR

=3 7 ¢ 75mm DP=1.2m ¢ 100mm DP=1.2m| #
EATRIL R 0 390.762
EPRES-§ 4 4

0.664 0.664 0.664 0.664 0.664 0.664
Mo E| 0] 0] 0] 388.106] 0] 0] 388.106 |
ESEIRE 0.0 0.0 0.0 388.1 | 0.0 0.0 388.1 |
HRERT — T EHE
=4 (2S ¢ 75mm ¢ 100mm e
1= (=3 0 91
5] (3 0 6
Mok R 0 504.4 504.4
1ARH =D 4.7 5.2
[ &t ] 0 25.22 0 0 0 0 26]

% /20m
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WMEEE

HIVP ¢ 20mm~ ¢ 50mm*VP ¢ 100mm+*DIP ¢ 100mm

w®OE L B 1% & | B 7
EEm T EIAL VP ¢ 100 371.6 m
EEm BT EAL DIP ¢ 100 19.2 m
WALy =V E G T ¢ 20~ ¢ 50 378 ]
57 i ) Q= G 71 ST VP ¢ 100 109 5
B = & U B T DIP ¢ 100 5 i
% & E Pk £ (HIVP - VP) 4t L=25kmLL T [
M = g WL 5 % 9.4 ni
= & % M & (DIP) 4t L=25kmPA F =]
27 7 v 7 (t) 0.3 t
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+ T &R R
@
oK
&t | o
& 50~ ¢ 20
HjE 39
AR BT 1 t=5cm m| 378.4 | 378.4 380
sipdspEEeET | | ]
0.20BH t=10cmLAF |mi| 113.5 | 113.5 114
FEAR A EI 0.20BH m| 130.5 | 130.5 131
JEEI LT N m| 6.5 6.5 7
MRET (&ET) 0.20BH m| 29.0 29.0 29
MRET AT 0.20BH m| 62.4 62.4 62
MRET AT AT] m| 6.5 6.5 7
ALy T 4L+ m| 61.2 61.2 61
ASHZ/W55 1 AS m 5.7 5.7 6
BASAE ) | ]
Tl t=19cm nm| 113.5 | 113.5 114
EENAEY VA il (L7 ST N N R R
LT t=15cm nm| 113.5 | 113.5 114
BAEgRIET A2 |
#JE T (#F3E) | t=5cm PK3 |nf| 113.5 | 113.5 114




IERAERTER

%n I%ﬁ Zl ﬁ]‘ ik AN §+
7 S 1450 £ & S
) K HE HIVP650~620  1.20 189.200  189.20




+ TEEE
g 397

K

HIVP ¢ 50~ ¢ 20mm DP=1.2m

AFHEE] D RL (1@ FTSH=Y) 21k (0.5%1.0%0.9=0.45n1)

@ 7 1k (0.5%1.0%0.3=0.151)
RERE AR HIVP ¢ 50~ ¢ 20 MRl 115 m
EEERRUE 0.05 m R 0.26 m pRiBE+
BIEOME 0.060 m MR 055 m FEL
R M EHME 0.060 m B 019 m  FERE
PR g 0.60 m B 015 m HERE
AS 0.05 m
PEHIIE 189.20 189.2
LSRRI T
t=>5cm 189.20 2 = 378.4
SREERR U T
As t=10cmBL T 189.20 0.60 = 113.5
F AR T
189.20 0.60 X 1.15 = 130.5
AJJHEEI T z fEPT W &P
0.45 10 + 0.15 X 13 = 6.5
HMET (&BE+)
0.60 0.26 - 0.060 2
7 = 4 ) X 189.20 = 29.0
HET (84+)
189.20 0.60 X 0.55 = 62.4
ANHET G841
6.5
sy T4 1) F i+
130.5 62.4 =+ 0.9 = 61.2
ASHZ LG5 T
113.5 0.05 = 5.7
T B i T
FAYAREG t=19cm 189.20 0.60 = 113.5
RC-40
AT
BRIV t=15cm 189.20 0.60 = 113.5
RM-40
FET
FEBRIET A3 t=5em 189.20 0.60 = 113.5
PK—3







RAETTBRE

®ooE L Bl K ¥ & H7
E ke =LA L ¢ 13 9.0 m
ME B Y =V Mk L ¢ 20 106.5 m
i E A e = v E R L ¢ 25 5 m
ME B Y =V Mk L ¢ 30 8.1 m
E AL =L AR L ¢ 40 10.4 m
MEE Y =V Mk L ¢ 50 86.2 m
RV A oK R A T HIVP ¢ 50 X ¢ 20 6 &P
TRV oK B E AT DIP ¢ 100 X ¢ 20 33 &t
¥R L4y K KA T DIP ¢ 100X ¢ 25 2 fi T
AN NV 5 S/ NI < < V. B DIP ¢ 100X ¢ 30 2 (BB
¥R L4y K B A T DIP ¢ 100 X ¢ 40 3 fi T
AN NV 5 S/ NI < < V. B DIP ¢ 100X ¢ 50 9 (BB
= 7 Jijd it T ¢ 20~ ¢ 50 49 fi& AT
ST/ S S " S N ¢ 20 18 (BB
IS/ = S i SR & S ¢ 30 1 fi& AT
ST/ S S " S O N ¢ 40 2 (BB
IS/ = S i SR & S ¢ 50 4 fi& AT
= K & W f I ¢ 13 9 (BB
' Ok & B O T ¢ 20 4 fi& AT
oKk B Wk B L ¢ 13 16 (BB
S N = R 7 N = SR ¢ 20 23 AT
w 8 r ¥ — b L 189.2 m
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BERR et H— Ik ET ZAEDHET A—H—FT
ey T R R T
29 5 5 13
613 20 25 30
(Hl\jﬁ%@fwf """" 9.00 | Tres0 [T 500 | 810
NETIER) 010 050
"""" O
Fa/KM R F R
MR ik B LEtia
H I A% L S Tl SRR o 4 rg/ozk
O g0 2 87.0
Y 1 4.0
R I 2 6.5
Y O 2 8.0
T k0 20 79.0
I 2 T e e oo fe
S R 44T
Y A o
S R o T
Y R AT
R N 20
L T T e T et RU g fi
S R 96
Y R o
S R o T
Y R AT
R e g




FERPT MR R R

e b5 pie HAfr

H I ¥ X v 7 S T R G fe
Y R 59T
Y e T
S N
Y e g
Y e g

HI&E WY 7 v b s P R A 7T

HARTF vt A— (&

v — = = 7 o~ ¢ 13 16
Y e g

A I (R RS SRR 0.5m/ %
Y e T
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¢ 30 2

Y e g
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e Biks e HLAY
S v B | SRER T T A
"""""""" RaER s
R JAE = e T 7T
A - K v 7 A ' e B §TTTTTTT A
Y '
W 1k U e E S S R g T f
Y '
FOR A K e e f
HIVP ¢ 50 X 20 6
T Dlpglooxzo T 33
T Dlpglooxzs T 2
pipglooxso T 2
T plpgloox4o T 3
T DIpglooxs0 T 9
S B 1 S T i
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c P - FEVEE
4t W] ke OE | mve | HIveGRi) | voob |mader | wo7 |gimevsok | 2200 | TR | cik | GGl 50| mikkie yi\g? SVE | ih
0| mamk
PREE A * AE XK | EE | P | m FfE| m AR | mo | PR fEE | Ae | fEE | PA | M| xpg | S| PR | ) PR | EE | PE | fEE | P S| PR | | PR | EE | PR | fES | REE | fEdk | M

@ 20 BERx 10020 1 20 2.5 20 2.5 20 1 20 1
@ 20 CAEDFET 10020 1 20 1.0 20 1.0 20 2.0 20 2 20 2 20 1 20 1 20 1 [500L| 1
@ 20 f=H—FT 10020 1 20 1.0 20 2.0 20 3.0 20 4 20 8 20 1 20 2 20 1 20 1 [500L| 1 20 1 20 1
@ 20 BERx 10020 1 20 2.5 20 2.5 20 1 20 1
@ 20 A=H—FET 10020 1 20 1.0 20 2.0 20 3.0 20 4 20 8 20 1 20 2 20 1 20 1 [500L| 1 20 1 20 1
@ 20 BERx 10020 1 20 2.5 20 2.5 20 1 20 1
@ 20 A=H—FET 10020 1 20 1.0 20 2.0 20 3.0 20 4 20 8 20 1 20 2 20 1 20 1 [500L| 1 20 1 20 1
20 BERx 10020 1 20 2.5 20 2.5 20 1 20 1
@ 20 BERx 10020 1 20 1.0 20 1.0 20 1 20 1
13 |B—1k/KIET| 100X40 1 40 2.5 40 1.0 40 3.5 40 2 40 2 40 1 40 1 40 1 FA 1 1
@ 20 f=H—FT 10020 1 20 1.0 20 2.0 20 3.0 20 4 20 8 20 1 20 2 20 1 20 1 [500L| 1 20 1 20 1
@ 20 Bk 10020 1 20 2.5 20 2.5 20 1 20 1
@ 20 Bk 10020 1 20 2.5 20 2.5 20 1 20 1
20 |[HE—1AKARFET| 100X50 1 50 1.0 50 1.0 50 2.0 50 2 50 2 50 1 50 1 50 1 FA 1 1
@ 13 BERx 10020 1 20 2.5 20 2.5 20 1 20 1
13 A== T 10020 1 20 1.0 20 1.0 20 2.0 20 2 20 6 20X13 1 20 1 20 1 [500L| 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
@ 13 A=H—FET 10020 1 20 2.5 20 1.0 20 3.5 20 2 20 6 20X13 1 20 1 20 1 [500L| 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
10050 2 50 | 64.0 50 [ 64.0 50 16 50 4 50 2 50 2 50 2 N 2 2
13 f=H—FT 10020 1 20 1.0 20 1.0 20 2.0 20 2 20 6 20 1 20 1 [500L| 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
13 CAEDFET 10020 1 20 2.5 20 1.0 20 3.5 20 2 20 2 20 1 20 1 20 1 [500L| 1
@ 13 A=H—FET 10020 1 20 2.5 20 1.0 20 3.5 20 2 20 6 20X13 1 20 1 20 1 [500L| 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
@ 13 BERx 10020 1 20 1.0 20 1.0 20 1 20 1
@ 13 Bk 10020 1 20 2.5 20 2.5 20 1
@ 13 A=H—FET 5020 1 20 1.0 20 1.0 20 2.0 20 2 20 6 20X13 1 20 1 20 1 [500L| 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
@ 13 CAEDFET 5020 1 20 1.0 20 1.0 20 2.0 20 2 20 2 20 1 20 1 20 1 [500L| 1
13 CAEDFET 50X20 1 20 1.0 20 1.0 20 2.0 20 2 20 2 20 1 20 1 20 1 [500L| 1 1
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PREE A * AE XK | EE | P | m FfE| m AR | mo | PR fEE | Ae | fEE | PA | M| xpg | S| PR | ) PR | EE | PE | fEE | P S| PR | | PR | EE | PR | fES | REE | fEdk | M
@ 13 CAEDFET 5020 1 20 3.0 20 1.0 20 4.0 20 2 20 2 20 1 20 1 20 1 [500L| 1
13 A=H—FET 5020 1 20 1.0 20 1.0 20 2.0 20 2 20 6 20X13 1 20 1 20 1 [500L| 1
13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
13 f=H—FT 5020 1 20 1.0 20 1.0 20 2.0 20 2 20 6 20 1 20 1 [500L| 1
13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
20 [HE—1kAKARFET| 100X40 1 40 2.5 40 1.0 40 3.5 40 2 40 2 40 1 40 1 40 1 FA 1 1
@ 13 Bk 10020 1 20 1.0 20 1.0 20 1 20 1
@ 20 BERx 10040 1 40 1.0 40 1.0 40 1 40 1
@ 13 BERx 10030 1 30 2.5 30 2.5 30 1 30 1
@ 13 BERx 10020 1 20 2.5 20 2.5 20 1 20 1
@ 13 BERx 100X 25 1 25 1.0 25 1.0 25 1 25 1
20 Bk 10050 1 50 1.0 50 1.0 50 1 50 1
@ 13 Bk 10020 1 20 3.0 20 3.0 20 1 20 1
20 BERx 10020 1 20 1.0 20 1.0 20 1 20 1
20 BERx 10020 1 20 1.0 20 1.0 20 1 20 1
20 BERx 10020 1 20 1.0 20 1.0 20 1 20 1
20 BERx 10020 1 20 1.0 20 1.0 20 1 20 1
20 Bk 10020 1 20 1.0 20 1.0 20 1 20 1
20 Bk 10050 1 50 1.0 50 1.0 50 1 50 1
@ 13 BERx 10050 1 50 1.0 50 1.0 50 1 50 1
20 BERx 10020 1 20 1.0 20 1.0 20 1 20 1
20 BERx 10020 1 20 1.0 20 1.0 20 1 20 1
@ 20 BERx 10020 1 20 1.0 20 1.0 20 1 20 1
13 A=H—FET 10020 1 20 3.0 20 1.0 20 4.0 20 2 20 6 20X13 1 20 1 20 1 [500L| 1
13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
13 BERx 100X 25 1 25 3.0 25 3.0 25 1 25 1
13 |B—1kKIET) 100X50 1 50 3.0 50 1.0 50 4.0 50 2 50 2 5040 1 50 1 50 1 Fh 1 1
@ 20 |[HE—1kAKARFET| 100X30 1 30 3.0 30 1.0 30 4.0 30 2 30 2 30 1 30 1 FA 1 1
@ 13 A=H—FET 10020 1 20 3.0 20 1.0 20 4.0 20 2 20 6 20X13 1 20 1 20 1 [500L| 1
13 1.0 13 1.0 13 1 13 2 13 1 13 1
@ 20 BERx 10050 2 50 6.0 50 6.0 50 2 50 2
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HIVPAE £ (H3H) d’;gg 157.5
7??@%*% d’;g; 31.7 50 X 20 6 13 | 9.0 13 | 9.0 13 ] 9 13 | 18 13 ] 0 |20x13]| 7 13 | 16 1319 139 N o2
TTIER HJH 189.2 100X 20 33 20 | 65.0 | 20 | 22.0 20 | 87.0 | 20 | 44 | 20 | 96 | 20 | 29 | 25%X13| O 20 | 8 20 | 39 | 20 | 18 |500L| 18 | 20 | 4 20 | 4 |5
BERR A1 29 100X 25 2 25 | 4.0 25 | 0.0 25 | 4.0 25 0 25 0 25 2 25 0 25 2 25 0 25 0 25 0 W 0
HlbkieETHRE | 5 100X 30 2 30 | 5.5 30 | 1.0 30 | 65 | 30 [ 2 30 | 2 30 | 1 30 | 0 30 | 2 30 | 0 30 | 0 30 | 1
ZIEDFETH R 5 100X 40 3 40 | 6.0 40 | 2.0 40 | 8.0 | 40 | 4 40 | 4 40 | 3 40 | 0 40 | 3 40 | 0 40 | 0 40 | 2
AA—FTHE 13 100X 50 9 50 | 77.0 | 50 | 2.0 50 | 79.0 | 50 [ 20 | 50 | 8 50 | 8 50 | 0 50 | 9 50 | 0 50 | 0 50 | 4
Fa KBS T 13 16647
Fa KBS T 20 23T
FaKE WS T 25 Of&i FT
FaKE WS T 30 Of&i FT
FaKE WS T 40 Of&i T
FEAKEWEE T 50 Of&i T i 55 | 1575 | § 36.0 F ]1935 | & 79 7 128 | & 43 i 7 i 24 i 55 g 18 g 18 | 7 13 g 13 g 7 g 7
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W S VR E R T ¢ 20 132.0 m
g S VR E R T ¢ 25 6.5 m
g S VR E R T ¢ 30 4.0 m
Mg S VR E R T ¢ 40 8.5 m
T S VR E R T ¢ 50 1142.5 m
AN NI /N < S V. DIP ¢ 100X ¢ 50 4 & A
A NV S/ NI i < SRV VP ¢ 100X ¢ 50 4 & AT
= 7 It L ¢ 50 4 & F
U A H B A& L ¢ 20 78 =
U A » #% A& L ¢ 25 4 M
U A » #% A& L ¢ 30 4 M
U A » #% A& L ¢ 40 6 M
L oA H» B A L ¢ 50 101 =
ook & v & L ¢ 13 25 & F
ook & v & L ¢ 20 27 & A
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M kafm | B T | ng| m | e@xom| | nExog|  EK O | g | oge | e | o | g | nee | e | neg | s | nes | ek e L L % | A XAk | s | DR | ek
@ 20 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
13 BERX 40 | 40 2.0 50 x40 1 40 2 40 1 40 2 40 1 40 1 1
@ 20 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 50 | 50 4.5 5050 1 50 2 50 1 50 2 50 1 50 1 1
@ 13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
13 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
13 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
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M kafm | B T | ng| m | e@xom| | nExog|  EK O | g | oge | e | o | g | nee | e | neg | s | nes | ek e L L % | A XAk | s | DR | ek
13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
13 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 40 | 40 2.0 50 x40 1 40 2 40 1 40 2 40 1 40 1 1
@ 13 BERX 20 | 20 4.5 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERX 40 | 40 4.5 50 x40 1 40 2 40 1 40 2 40 1 40 1 1
@ 13 BERX 30 | 30 2.0 50%30 1 30 2 30 1 30 2 30 1 30 1 1
@ 13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 13 BERX 25 | 25 4.5 5025 1 25 2 25 1 25 2 25 1 25 1 1
20 BERX 50 | 50 5.0 50 x50 1 50 2 50 1 50 2 50 1 50 1 1
@ 13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 20 | 20 5.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 20 | 20 5.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 20 | 20 5.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 20 | 20 5.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 20 | 20 5.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 50 | 50 5.0 50 x50 1 50 2 50 1 50 2 50 1 50 1 1
@ 13 BERZ 50 | 50 5.0 50 x50 1 50 2 50 1 50 2 50 1 50 1 1
20 BERX 20 | 20 5.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 20 | 20 5.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
20 BERX 20 | 20 5.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
13 BERX 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
13 BERX 25 | 25 2.0 50Xx25 1 25 2 25 1 25 2 25 1 25 1 1
13 BERZ 50 | 50 2.0 50 x50 1 50 2 50 1 50 2 50 1 50 1 1
@ 20 BERX 30 | 30 2.0 50%30 1 30 2 30 1 30 2 30 1 30 1 1
@ 13 BER% 20 | 20 2.0 50x20 1 20 2 20 1 20 2 20 1 20 1 1
@ 20 BERR 50 | 50 2.0 50 x50 1 50 2 50 1 50 2 50 1 50 1 1
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% % | M s | HIVPGIGH) | HIFRE N F— X HIF—X HIT LR HIIT:/F HIY 4w h Hy/;/ﬁ Z ﬂﬂ}gj i;/; ﬁ%fg;g Tﬁé(?_ PVCH /%5%/%21/57; SRS R g'j’_;:ﬂi
M| sBAE| N 200
Mg ks |5 B lng| m |omxor| mm |omxom| @ | o | ] o | e | o | e | o | e o | e o | e %k Tk Tk B | AR | s | e | e
¢ 50X 3% 50 | 50 [1074.0 50X 50 27 50 | 25 | 50 | 12 | 50 |268 | 50 | 76 50 | 36 4 4 4 36 DIP100X50] 4 | 50 | 4
VP100X50| 4 | 50 | 4
650X 15 50 | 50 | 45.0 50 1 50 | 11 | 50 5 50 2 1 1 1 2
IR L THER | 3% 358.0 13 50X 13 13 13 13 13 13 13
1% 45.0 20 | 132.0 | 50%20 39 20 [ 78 | 20 | 0 |20 |31 [20 [78 [20 |39 |20 |39
BERx e 521 25 6.5 50 % 25 2 25 | 4 |25 | 0 25 1 25 | 4 |25 | 2 25 | 2
RRARAKE T TAER 174.5 30 | 4.0 50 % 30 2 30 | 4 |30 |0 30 | 2 30 [ 4 [30 | 2 30 | 2
FaRE R 1T 13 25 AT 40 | 8.5 50 X 40 3 40 | 6 [ 40 | 0 [40 | 3 [40 | 6 [40 | 3 |40 | 3
FaRE R T 20 27&FT 50 |1142.5 50 % 50 33 50 | 38 | 50 | 12 | 50 |285 |50 | 93 | 50 | 6 50 | 44 DIP100X50 4 | 50 | 4
FaRE R 1T 25 Ofi it VP100x50| 4 | 50 | 4
RAKEWHET | 30 Of&i T
HKERE L | 40 Of AT
HAREEL | 50 Of AT 7t [1293.5 it 46 it 33 st 130 | FF |12 | g | 322 | 3 185 | F- |52 | a9 | F {5 | |5 | # |5 | F |90 = s |zt | s




7 R 7 L TR B

3cm 0.078 0.0000
4cm 0.104 0.0000
S5cm 0.130 1828.6 2.3771
bcm 0.152 0.0000
Tcm 0.174 0.0000
10cm 0.240 0.0000
llecm 0.262 0.0000
15cm 0.350 0.0000
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000
i 1828.6 2.3771

EXe 2.38




